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Worksheet-2

SUBJECT - MATHEMATICS

1st term

Chapter: Trigonometry Class: XI

Topic: Trigonometric Ratios of Compound & Multiple angles Date: 16.06.2020

Choose the correct option (1X15=15)

1. sin(45°—0) =?

1, .
a) ? (sin@ — cos 0)
b) % (sin@ — cos 0)

) %(— sin 0 + cos 0)

d) %(— sin 0 + cos 0)

2. tan(45°+60)tan(45°—-0) = ?

3. tan@ + cot20 = ?

a) sin?260
b) cot? 26
c) cosec?26
d) tan? 260

4. 2cos(+4) =7?

a) cosA —V/3sin4
b) cosA —+2sinA
¢) sinA—+V3cos4
d) sin4 —V2cosA




5. sind = %, cosB = — g where A and B both lie in 2" quadrant, then the value of (A+B) = ?

56
a) E56
b) e
65
C) %
65
d) ~ e
cos 9°+sin 9°

=7

" c0s 9°—sin9°

a) sin54°
b) cos 54°
c) tan 54°
d) cot54°

7. sinA + sin B = 2 , then the value of sin(4 + B) =?

a) 2
b) 0
c 1
d) -1

8. tan4d = % & tanAtan B = 1, then the value of (A+B) =7

a

1_\/3_?

" sin10° cos 10°

2 4 8w 16w
—coS—coS—cos— = ?

10. 16cos 15 15 15 15




. 1+ cosg)(l + cos%”)(l + cos%")(l + cos%”) =?

R[N |1 [ =W

12. Given 2cosf = x +i . Then the value of cos20 = ?

a)
b) -
0)
d)

. If sin@ = %, then the value of cos 20 = ?

If sin@ = %, then the value of sin 30 = ?

15. tan 70° — tan 50° + tan 10° = ?

a) V1
b) V2
c) 3
d) V3
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